Thisisnot a Sudoku

Enter digits 1 through 7 into the grid so that every digit appears exactly once in each row,
each column, and each outlined region. (Two squares will remain empty in each row, each
column, and each outlined region). The clues outside the grid give the sums of the digits of the
numbers that appear in the given row or column (successive numbers are separated by at least

one empty square).

Example (with digits 1 through 3 and one empty square per region):

2 3 2 3
6 4 6 3 6 4 6 3
5 1 5 1(3]2 1
1 5 1 51 3|2
6 6|l2[3]1
6 6 1123
Puzzle:
10 6 18 2 5
7 10 5 5 17 25 16 5 17
11 12 23 5 11 1 12 18 11
18 10
8 8 12
1 25 2
20 8
11 16 1
5 5 18
28
11 3 14
13 8 7




Solution:
10 6 18 2 5

7 10 5 5 17 25 16 5 17
11 12 23 5 11 1 12 18 11

18 10| 3 |4 | 51| 6 21711
8 8 12|16 | 2 711 31415
1 25 2|1 713|5|4]|6 2
20 8 7111246 513
11 16 1|2 |3 | 6 7154 1
5 5 18] 5 4 11 312|716
28 113|146 |7]5|2
11 3 14|14 |5 2 3 1167
13 8 7|7 ]|6 5|12 |1 3|4




